FABET D A\ O &t (H27. 3R R|H)

§t 5 =S
AR _ 42 596 21,369 21,227
HRAFEEAO 41,741 20,999 20,742
SEAMERAD 855 370 485
[EF 16,379]
TRRAMAQEHFNEAFREZSD) _ _
Hi il FEREX HESF 2 Bt arhE | BHEE
AR 3,400 2,935 2,768 2,436 1,190 4,700 2,473 576
] 1,722 1,527 1,379 1,232 600 2,382 1,157 264
S 1,678 1,408 1,389 1,204 590 2,318 1,316 312
i 1,321 1,157 1,032 999] 461 1710] 1,005 267
8BS i EAE [HEFMERERAMBIE] iLE fif=ka EBE LU
AR 3,310 2,290 3,091 1,219 1,169 3,337 1,252 4418
] 1,684 1,107 1,536 596 585 1,673 615 2,255
i 1,626 1,183 1,555 623 584 1,664 637 2,163
s 1,249 885 1,162 541 518 1,293 503 1,521
K
A0 2,032
] 1,055
S 977
L 755
TERRIAODGEANERESFEL) _
Hiw il EREE HESF AR H Bt &rhE | EHEE
AR 3,344 2,912 2,734 2,375 1,155 4607 2,464 520
;] 1,704 1,515 1,356 1,203 586 2,329 1,152 237
S 1,640 1,397 1,378 1,172] 569 2278 1312 283
BE & EAE |[HEH#EHERME] LS fi=l=a ESHE LU
AR 3,269 2,262 3,070 1,092 1,045 3,278 1,236 4363
;] 1,665 1,098 1,528 549 517 1,662 610 2,241
S 1,604 1,164 1,542 543 528 1,616 626 2,122
sk
A0 2,015
L] 1,047
S 968
FERRHIAODGTEAERDHA) _
L] L= BErRE HEF EH k4 e&yrE | BREE
AR 56 23 34 61 35 93 9 56
;] 18 12 23 29 14 53 5 27
E-S 38 11 ] 32| 21 40 4 29
BE HE EAe |[HEHE|HERME] LS fif=l=a ERHE L
AR 41 28 21 127 124 59 16 55
;] 19 9 8 47 68 11 5 14
kS 22 19 13 80 56 48 11 41
saK
A0 17
L 8
% 9

NEM25FE7AKREY., HBEHORFICONT, —BEELEL=,



